oo = == == ==[1[]

Dolo60 000 0000udO00O0On
0oO@oooon)

goo:

000 : 2017/9/8 13:55:18

ooo

OO0 0000000000000 O0OsO0000000-1060000|0000010602010000
0 0010600100280 00 0 O

OO0 OO0oO0oOoOoo@ouoooo)yooood

(0) OO0OO0Ooleood3ooooooooilooloooooooo7000o0o4000000
(0) 00OOoooOoooo@ooooosn)ydaooon

(0) OOoogo

00 000oOooigoooogo

00 O00O00DOO00DbOoDoOOoboDoo@ooon)o

(0) 0OO00DODO0OODOO0OO0DOO0O0DOO0O(http://passport.tyc.edu.tw/index.php)d O O
podoooooooodgo

00 O00O00DOO0DO0OO0bDO0ooOoobOoooOoleeOon3o0bOoooOooooo@uoooan
0000dDO0oooooooOo)oleedo0 100000 DOoooeO 0000 DOoOOoODOOD
oooooooooi10o

00 000000000000oO0o0d0ooOdvoOdooDOoOooOoD12000000000

http://163.30.202.2 2024/5/2 17:06:32 - 1


http://passport.tyc.edu.tw/index.php
http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

